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83. The middle word in the first group has been made from the other two words. Complete the
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84. Choose the answer which best describes (f#iif) the position of the vegetables.
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The beans are somewhere above the mushrooms.
The cucumber is somewhere to the left of the tomatoes but not under the carrots.

The carrots, in turn, are directly (IE4fHf) above the mushrooms.

A. a=cucumber b=beans c=carrots d=mushrooms e=tomatoes

B. a=beans b=cucumber c=carrots d=tomatoes e=mushrooms
C. a=beans b=carrots c=cucumber d=tomatoes e=mushrooms
D. a=tomatoes b=carrots c=cucumber d=beans e=mushrooms
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